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Q1) Answer any two of the following : [2 × 5 = 10]

a) Convert decimal 42 into binary and find its 2’s complement.

b) Solve (1232)8 = (?)10

c) Solve (9A5)16 – (8B4)16= (?)16

Q2) Answer any two of the following : [2 × 5 = 10]

a) Explain X-OR gate and give truth table of the operation.

b) Explain De Morgan’s theorems with truth table.

c) Explain how logical operation of ‘AND’, ‘OR’ and ‘NOT’ can be implemented with ‘NOR’ gates.

Q3) Attempt any two questions of the following : [2 × 5 = 10]

a) Explain 4-variable k-map with structure.

b) What is multiplexer? Draw block diagram and truth table.

c) Draw block diagram and truth table of full adder.

Q4) Attempt any two questions of the following : [2 × 5 = 10]

a) Give the truth table and excitation table for J-K flip-flop.

b) Describe the construction and working of LED.

c) Sketch two-bit shift register and its timing diagram and give its operation.

Q5) Attempt any two questions of the following : [2 × 5 = 10]

a) Explain static and dynamic RAM.

b) Explain counter ramp in A/D converter.

c) What is encoder? Draw block diagram and truth table of priority encoder.

Time : 2:30 Hours] [Maximum Marks : 50
[Minimum Marks : 17

NOTES :
i) Attempt all the questions.
ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any

difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.
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({hÝXr AZwdmX)({hÝXr AZwdmX)({hÝXr AZwdmX)({hÝXr AZwdmX)({hÝXr AZwdmX)

ZmoQ> :Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > : g^r àíZm| Ho$ CÎma Xr{O¶o&

à.à.à.à.à.1) {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE … [2 × 5 = 10]

A) S>o{g‘b 42 H$mo ~mBZar ‘| ~Xbo Am¡a CgHo$ 2’s nyaH$ àmá H$a|&

~) hb H$a| (1232)8 = (?)10

g) hb H$a| (9A5)16 – (8B4)16= (?)16

à.à.à.à.à.2) {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE … [2 × 5 = 10]

A) X-OR JoQ> H$s ì¶m»¶m H$a| Am¡a Am°naoeZ H$mo gË¶ gmaUr ~ZmBE&

~) S>r ‘m°J©Z à‘o¶ H$s ì¶m»¶m gË¶ gmaUr Ho$ gmW X|&

g) H¡$go Vm{H©$H$ g§MmbZ ‘AND’, ‘OR’ Am¡a ‘NOT’ H$mo ‘NOR’ JoQ²>g Ho$ gmW bmJy {H$E Om gH$Vo h¢&

à.à.à.à.à.3) {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE … [2 × 5 = 10]

A) 4 Ma k-map g§aMZm g{hV ì¶m»¶m H$a|&

~) ‘ëQ>rßbo³ga ³¶m h¢? ãbm°H$ AmaoI Am¡a gË¶ gmaUr ~ZmBE&

g) ’w$b ES>a H$m ãbm°H$ AmaoI Am¡a gË¶ gmaUr ~ZmBE&

à.à.à.à.à.4) {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE … [2 × 5 = 10]

A) J-K pâbn âbm°n Ho$ {bE gË¶ Vm{bH$m Ed§ B³gmB©Q>oeZ gmaUr (Vm{bH$m) ~ZmBE&

~) LED Ho$ {Z‘m©U Am¡a H$m¶© àUmbr H$m dU©Z H$a|&

g) Xmo-{~Q> {eâQ> a{OñQ>a Am¡a CgHo$ g‘¶ AmaoI H$mo ~ZmBE Am¡a BgH$m g§MmbZ ~VmBE&

à.à.à.à.à.5) {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE … [2 × 5 = 10]

A) ñQ>¡{Q>H$ Ed§ S>m¶Z{‘H$ RAM H$s ì¶m»¶m H$a|&

~) A/D  H$ZdQ>©a ‘| H$mC§Q>a a¡ån H$s ì¶m»¶m H$a|&

g) EZH$moS>a ³¶m h¢? àmW{‘H$Vm EZH$moS>a H$m ãbm°H$ AmaoI Am¡a gË¶ Vm{bH$m ~ZmBE&
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